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ATIEScrumBIA TAERISRESEF, Scrum MasterfYEZIRERZMHA?

What is the primary responsibility of a Scrum Master in order to keep a Scrum team
working at its peak level of productivity?

A) EHBITFRATHEScrumiELe R Escik

Helping stakeholders understand the Scrum framework and its practices
B) KBEMRINEEE T miF/IS= NG IRINE

Keeping high priority features at the top of the product backlog
C) BrlbdRIFFRRIESUPRIFF DS IZR

Preventing changes to the sprint backlog once the sprint begins

2/40
HDeveloperlEE5ER A RIEANAI—IUESS.

HEXFXMESTRER?
During a sprint, a Developer is working on a task.
Who is accountable for this task?

A) zZDeveloper
This Developer
B) #f{KkDevelopers
The Developers
C) F=@mAaxkEA
The Product Owner
D) Scrum Master
The Scrum Master
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FrEScrumEB{HERERHE S RHIEM

AR EIEPREIALE?
All Scrum events are time-boxed events.
What is the advantage of time-boxing?

A) HRT ScrumEFRARIEE,

[t ensures commitment of the Scrum team.
B) (BH TS EXLE.

It facilitates osmotic communication.
C) EARERLTHEIRZ.

[t minimizes the waste of time.

4/ 40
HEREESEEIScrum, BT —MUMIREEARKNAER, HBERBIEKRREE— i
N TEERE,

X—AemERERENEAA?

A team is transitioning to Scrum. They already had a role called project coordinator, who
helps creating a smooth working environment for all project members.

What should this role be called after the transition?

A) Developer
Developer

B) m~mfaskA
Product Owner

C) mMESE
Project manager

D) Scrum Master
Scrum Master
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RremARABE— N RADSEIIRFZBEEMRATTH. HIEXNFERIDevelopersi\uf
EORAIEABETSRK, MScrum MasternAAFEE3R, —Sepild RUZKBNERERIAN, XPF
BRZRE—X.

THRIRR R R ?

A Product Owner wants a product backlog item to be completed in two days. The
Developers working on the item think it will take five days to complete it. The Scrum Master
thinks it takes three days. A subject matter expert, who has worked on similar items in the
past, thinks it should be at most a one-day effort.

Whose estimate should be used for planning?

A) Developers
The Developers'
B) MmAsRA
The Product Owner's

C) Scrum Master
The Scrum Master's

D) FHER
The subject matter expert's

6 /40
ERRIEARER, EBASTAL T BRI RIG I EIFIRSEE.

RIFREU—I75?
Halfway through a sprint, a team has finished all sprint backlog items.

What is the best action to take?

A) EGHAXPRIRGRIRASE, BEFATRIEATREIISE
Cancel the rest of the sprint and start a new sprint with new items
B) MERAXGRIER, HBEANZERETIUTE
Extend the length of the sprint and see if done items can be perfectioned
C) B mfFNEIRIB—NFE, NINEFRIFFDIEIGIFR
Pick the next item from the top of the product backlog and add it to the sprint backlog
D) ZEREAXHRIER, ERY4arasE TRAYRIEA

Shorten the length of the current sprint and shorten the next sprints as well

£ #1#{#% EXIN Agile Scrum Foundation (ASF.CH)
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REMEAEE R —IE, tIMNEARREER N ARIX. BERRIIDAREAESR, S
HIEBEARIMAR.

HARRESX N EME AR RIF /557

A virtual team with people from two diferent time zones is working on a project. The team
members do not have overlapping office hours, which causes them to be less effective than
they hoped for.

How can the effectiveness of this virtual team best be improved?

A) HEREFBEScrumBIARWEIFTEER

Ensure that all Scrum team members receive all information
B) RO MEAES, WE—EEZHEHES

Hold the daily scrum together even if office hours do not overlap
C) FAEBEEEEHTITE

Use the osmotic communication technique for disputes

8/40
T ARHREH T iR RIS R ?

When does product backlog refinement take place?

A) RfEHRIFFaeT
Only at the start of a sprint
B) RERIEmE £
Only during the sprint retrospective
C) REMRIFEENLE
Only during the sprint review
D) EANHRIHAE
Throughout the sprint
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HScrumBIRAREI T ERMR. R EREFIREHR (WiP) ERARIRS.

RS RrZ A A2

A Scrum team uses a Kanban board. The work-in-progress limit (WiP-limit) of a column on
the Kanban board is reached.

What should be done when this happens?

A) BItEnEET—5IAIDevelopers, LABERU=HE
Assign work to Developers in the next column to free up capacity
B) #AWIiPBRHEIFLREETE
Enlarge the WiP-limit and keep working
C) #EBfizF|DevelopersiHbaHRzN
Help the Developers in the column with the bottleneck
D) &2 TEREIT—5ILARR8e
Wait until work is pulled to the next column to free capacity

10/ 40
Ha2mDevelopersiA Kz DevelopersZ [EfEIA SR RIRIEB VG IE?

What is the most efficient and effective method of transferring information to and between
the Developers?

A) EBFHBE
E-mail

B) MEXIE
Face-to-face

C) #HAEAR
Social media

D) Ei&

Telephone

Z1i3# % EXIN Agile Scrum Foundation (ASF.CH)
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RScrumBIRAFH RSP RIGFIIFISIRERE T — 1w D EIFIERER.

Developerst+ AR ESER T P RSN ETFIZRRE?
A Scrum team selects a product backlog item for the sprint backlog.
When are the Developers finished with a product backlog item?

A) DeveloperstE/fRIZERAIH T BEMHAI—1T]

When the developers have done everything they can before the end of the sprint
B) zZBEIDHT. ikit. WE. WidFHeR

When the item is analyzed, designed, programmed, tested, and documented
C) HEFTAIENX (DoD) RYZEK

When the requirements for the definition of done (DoD) have been met

12/ 40
B—I AR e Z RS EEEScrumIn B _EAIERS?

What best describes the role the daily scrum plays in the monitoring of a Scrum project?

A) BHit=1EDevelopers i IA911 B i EFIE)A,

The daily scrum gives the Developers insight into their progress and their issues.
B) SHit=#ENIScrum MasterEFRRE.

The daily scrum helps the Scrum Master to update the burn-down chart.
C) ZRESTLILFRARAIFEDevelopersfIBE#HE,

The daily scrum lets the Product Owner review the progress of the Developers.

13740
BEIEAT, FATENZEAR?

When working in an Agile way, what should the pace of development be?

A) BE
Constant

B) fRiE
Fast

C) 1B
Increasing
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I EA98 N HRIF, DevelopersBH5ERk T 7240MEE M. ScrumBIBA#E R FIA— N FEVIRE ,
XAMB B S6MNEE A,

SRIXANEEEZ/DNR?

In the past 8 sprints, the Developers have completed 72 story points in total. The Scrum
team is asked to start working on a new project which is estimated at 56 story points.

How many Sprints are needed to complete this project?

A)

)

o0 NN urwn,

0

D) 10
10

15/ 40
HScrumBEBARFEFPRIER—PIE. SR TR NARIBNARIERE E, Scrum MastersRn:

ML EA ZNPRIBTAE L, Bl I AR ETE R AT S, Fell iz BN 1718
BT, "

R NIZIENNRRIER?

A Scrum team works on a project in two-week sprints. During the sprint retrospective
meeting of the fifteenth sprint, the Scrum Master says:

"We have seen from the last twelve sprints that we cannot deliver potentially shippable
increments in two weeks. We should increase the duration for sprint sixteen.”

Should the duration be increased?

A) B, EAETIERFRIRR, B0 EBESUTRIE,
Yes, because past sprint performance is a good reason to change.

B) 289, EScrum Masterff soiFesUhRIEA.

Yes, because the Scrum Master is allowed to change the sprint's duration.
C) ~Z, EHNREDevelopersABIRBLHFRIEA.

No, because only Developers have the authority to change the sprint's duration.
D) ~2, BEAFICUTARBESURRIER,

No, because the Sprint's duration cannot be changed, for any reason.

£ #1#{#% EXIN Agile Scrum Foundation (ASF.CH) 11
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IR AR E R I AT .

MRERRIEREN 7HA?
For a sprint, progress is monitored in a burn-down bar chart.
What does the bar of a burn-down bar chart represent?

A) R IFE
The amount of completed work

B) RIRIIFE

The amount of remaining work
C) DevelopersfyazfiERER
The velocity of the Developers

17 /40
— N ERNRELHREES S "INVEST' HWEmiFNIEIIRSEE. INVESTRY 1" FRRIRZ
. RIREFmADSIFIRZBAZMIZAY,

B—IR BB M E My IR ZBERIER?

An often-used best practice is to define product backlog items according to the acronym
‘INVEST" .The ‘I’ of INVEST means independent. Suppose that a product backlog item
is not independent.

What is the consequence of having dependent product backlog items?

A) KR ETEES IR REE.

The items call for more knowledge to be built.

B) {kititZ BRI SIMEREF.

The items cannot be ordered based on business value.

C) KEtFREFTEESDevelopersZ BEMIE.
The items require more Developers to be built.

D) &R EFES— N ScrumBEIRARITE,

The items require work from another Scrum team.
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EEATHER AR AR T RGN EIIRASHIRE?

Is it allowed to override the Product Owner’ s decisions regarding Product Backlog
content?

A) 21y, CEOTJLUER mARANRE, EANCEOEEEMINNRERE.
Yes, the CEO can override the Product Owner's decisions, because the CEO is ultimately
responsible for the entire organization.

B) 28, EFULUERHFRAOSARNRE, EAScrumlAEFAFIL, ZERRZIREMNE.
Yes, the customer can override the Product Owner's decisions, because Scrum is customer-
focused, and the customer should receive value.

O A2, FRASANEEREHIER, EAXSESHScrumEIS FIRE Az,
No, Product Owner's decisions may not be overruled because this would cause the Scrum
team to adjust their planning too often.

D) A2, FRmARARREREEHERS, HAr-RENEIYIREHmAsEARR.
No, Product Owner's decisions may not be overruled because the product backlog is fully
owned by the Product Owner.

19/ 40
Scrumf=NTHEEE— N ScrumERA 2 S HHEIE.,

HREFDEIYRIRERHA?
All three Scrum artifacts have a commitment that the Scrum team works toward.

What is the commitment of the sprint backlog?

A) TRRRIENX (DoD) , HIFM T milES
The definition of done (DoD) that clarifies the vision for the product

B) DoD, HEBBHT JrnfRINFRHIFE
The DoD that clarifies which items should be developed in the sprint

C) HRIBtR, HBAH T REARSTAINSERENER

The sprint goal that clarifies what the requirements are for items to be called complete

D) HRIBR, HBBHTEAERRIPELZIRIE R

The sprint goal that clarifies what the team wants to achieve in the sprint

£ #1#{#% EXIN Agile Scrum Foundation (ASF.CH) 13
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fEScrumBEBAR, ERIHRIRE P NP ERISRAMERS?

In a Scrum team, who is accountable for ensuring the customer gets the most value from
the product?

A) Developers
The Developers
B) m~mskA
The Product Owner

C) Scrum Master
The Scrum Master

21/40
AR mBiR?

What is a product goal?

A) FrEmATETREISIR
A list of what is needed for the product
B) HEBRERATHIEEREERSIR
A quality measure to check if an increment is complete
C) T—NHRIZESTRRRIBER
A target to accomplish in the next sprint
D) FmERZHER
A vision for the product or service

22 /40
— 5 ABIScrumBEBA,  3EFRIZBRTIFRITT RSN E SRS EEER?

How long should it take a Scrum team of 5 members to finalize the sprint planning for a 3-
week sprint?

A) EZKHEZK

As long as it takes
B) 6/)\ad

6 hours
C) 8/t

8 hours
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HAREESESS PR TNMEMAIHER?

IBICIEHIE2TEE,
Which two statements are statements of value as described in the Agile Manifesto?
Please remember to choose 2 answers.

A) FRAEE T TR

Comprehensive documentation over working software
B) BEKHASTEFEF

Contract negotiation over customer collaboration
) MAMEmHESTRENTIE

Individuals and interactions over processes and tools
D) MM ETEEITL

Responding to change over following a plan

24 /40
HScrum A\ BEREIAKATEE.

At ATIMGEE R EHEEN?
A Scrum team uses an information radiator to visualize the progress.
Why is visualizing the progress helpful?

A) BEIFScrum Masterp B =M RIGIRSEE.,
It helps the Scrum Master assign product backlog items.

B) BE1FScrumBAFEIF S {E.

It helps the Scrum team to work together better.

C) REEERScrumBZBARIITIRFZE.,

It shows co-workers how busy the Scrum team is.
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HEFEXRHE—H R T ScrumBAEF R P MR AR S.

ERIFEERESXOIRE?

A customer requests a report about the techniques a Scrum team uses for their
development.

Who can best prepare this report?

A)

B)

9]

Developers

The Developers
FRiREA

The Product Owner
Scrum Master

The Scrum Master

26 /40
HARScrumBIBARTERERAIEN?

What is the definition of the velocity of a Scrum team?

A)

XY RRIFITSRGREIAAAIFER

A shared understanding of how fast a sprint must be done

B) DevelopersfE— Xk EILATSAAYEREE R EL

The number of story points Developers can finish in one sprint
C) BNHRIBREERR (WIP) BRE

The optimum work-in-progress limit (WiP-limit) for each sprint
D) SRS ISIZRSF BRI

The sum of all completed sprint backlog items
27 / 40

(ERFMDMLEN, BRSSO RSER?

When using affinity estimation, how are story points assigned to user stories?

A)

B)

0

HRIERTRRIERS TAFEN B B THI, RN RETS AR,

All user stories are sorted based on their relative effort and then grouped into buckets of
estimated story points.

&/ DeveloperzBEERFHE, BH2{ADevelopersiApilEmE—EEL.

Each Developer individually estimates the user story before all Developers agree on the story
points.

DevelopersEIZNMESEHNE, SHAFPHEHITILR,

The Developers use multiple reference user stories and compare them to the user story.

Z 1 #% EXIN Agile Scrum Foundation (ASF.CH) 16
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28/ 40
—MARERE, B—AMRMTE. —ABRERAE,

VAL /BT URRhsEiEe?

One person is working on the code and another person is observing and commenting.
Occasionally, they switch roles.

Which practice is this?

A) HBiFEH
Code review
B) #4REERK
Continuous integration
C) ZEXIUmiZ
Pair programming
D) MEH3RaNF &

Test-driven development

29 /40
HScrumEBARI—& Developerih A, FRAASESNEFANEEE—LENENLEIRIE,

HARMERRIGHIRIESS?

A Developer from a Scrum team thinks that a stakeholder may have some valuable insights
and feedback about the developed increment.

What is the best event to ask for this feedback?

A) ZRES
Daily scrum
B) iHRItk!
Sprint planning
C) HRIEIER
Sprint retrospective
D) iHRIFE

Sprint review

£ #1#{#% EXIN Agile Scrum Foundation (ASF.CH)
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30/ 40
“INVEST" #hAg "S" RAIEN,

FrREFD SR LR B Raz/N?
The S in INVEST stands for small.

Which items on the product backlog should be small?

A) FRFDERYIRPIIMEEE
All items in the product backlog
B) mmfF/IEISIRIEEHIFE
The items on the bottom of the product backlog
C) FRFDEIGIRITERAISE
The items on the top of the product backlog
D) REFMFNEIFIRIIFZE, REMRISDSERTIRNEZE

No items on the product backlog, only items on the sprint backlog

31/40
ERAFROZEM. FRAMRIHERE TUFSEELRIEIRN ?

From which type of team do the best architectures, requirements and designs emerge?

A) EETIEIBA

A collocated team

B) EEIEHBA

A self-managing team

C) IIEEZ=EBA

A well-trained team

D) ZWRF=HEPA
An experienced team

Z1i3# % EXIN Agile Scrum Foundation (ASF.CH)
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32/40
FEmASR RS S MRS RS B IHR R,

B—IARREEE SIRE?
The Product Owner is considering criteria for ordering the items in the product backlog.

Which is not one of the criteria that needs to be considered?

A) it
Dependency

B) Developersfya] FtE
Developers’ availability
C) Xk
Risk
D) #iM&

Value

33/40
MMtABRBEFECTRIERNE AR EFT?

Why does the daily scrum need to be held at the same time and place each day of the
sprint?

A) EHHRERENERITIERINE

Because booking a room should be done in advance for the duration of the sprint
B) EANEEEEEEBRIVSENERENEERER

Because management should get status updates at a given time every day
C) EANEMMRRFAE T URARERF RS2

Because the use of a consistent time and place minimizes complexity

Z1i3# % EXIN Agile Scrum Foundation (ASF.CH)
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34 /40
HEEEMNRERS, DeveloperZBEIEFIRERAR =PI NPRIENEREE T £75.

B=AMRIEIRETHA?

While reviewing a burn-down bar chart, a Developer observed that the bottom of the bar
had moved above the horizontal axis between the third and fourth sprint.

What happened in the third sprint?

A) FERFFDEIYIRPEIE T L TE,
Some work was added to the product backlog.
B) MBI IRFMIFR T —LTE,
Some work was removed from the product backlog.
C) DeveloperssefiIAFHELTHEE.
The Developers finished less than the allocated user stories.

D) DevelopersserkIAFtESZ T oEE.

The Developers finished more than the allocated user stories.

35/40
B ERIEELREEN, EEScrumI{ES=?

Which contract type is adaptive and fits well with the Scrum way of working?

A) EFREE "EEME"
The contract type 'fixed price’
B) &§[E "T-#" (time and material)
The contract type 'time and material’
C) “EHTRE
Neither contract type

Z 1 #% EXIN Agile Scrum Foundation (ASF.CH) 20
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RScrumBINEERE X —taEZR, RIS HEEET B PRSIz E.

ZEBA AT B RTA?

A Scrum team wants to clearly define a checklist of items that must be completed before an
increment can be called completed.

What are they likely to use for this?

A) BRE
Burn-down chart
B) FeRAIEN (DoD)
Definition of done (DoD)
C) FRFDEITIER
Product backlog
D) HRISFIEIFIR
Sprint backlog

37 /40
Bp—IE A RUER B AR BT R R T ER D ?

What is a potentially releasable part of a product that occurs during a sprint?

A) 5t
A feature
B) Ihgk
A functionality
C) MRIEFDEIFIER
A sprint backlog
D) &=
An increment

£ #1#{#% EXIN Agile Scrum Foundation (ASF.CH)
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HScrumBBAIEEEERFHE. Scrum MasterfZB IR RIFNTIE.

THFN e B TARRY?

A Scrum team is estimating user stories. The Scrum Master suggests the planning poker
technique.

How does planning poker work?

A) BREFHSESSERSEHITIR, AEHTHE
Compare the story to reference stories and then estimate it
B) &BMEE, REITIEEMARNGE

Estimate on your own, then discuss everyone else's estimates

C) HRIEFFFRAVEN TIEEXTE AR SEHITHF

Sort all stories based on their relative effort required

39/40
BEHEEZEScrumE\ 2EBEScrumLEFIEN,

R TRERNRIEAE?

Senior management wants to regularly verify whether the Scrum team is following Scrum
practices and principles.

Who is in the best position to conduct such an audit?

A) &

Senior management
B) Developers

The Developers
O FmiEA

The Product Owner
D) Scrum Master

The Scrum Master

£ #1#{#% EXIN Agile Scrum Foundation (ASF.CH)
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40/ 40
SMEINEE— N, XT5MEIEX (DoD) FEDIK.

-Scrum MasteriA\ 5, REEE—1"DoD, FrEBAEE 1 FX—DoD,
-FFRABAINA, SMNENENIZENY ECHDoD, HRIESBRIDoDIEAMK TRl BT,

HEEXIAY?

Multiple teams are working on the same product. There is a disagreement about the
definition of done (DoD).

- The Scrum Master states that there should only be a single DoD that all teams work
towards.

- The Product Owner states that each team should define their own DoD and work towards
their sprint goals based on that DoD.

Who is right?

A) FFRHEA, EABADoDBEMTFEEMUMbIARLTFIBIR.
The Product Owner, because a team DoD helps reach sprint goals more efficiently.
B) mmE=A, FADoDET~RAEAREREEE.
The Product Owner, because the DoD falls under the Product Owner’ s responsibilities.
C) Scrum Master, EAScrumiiiEETFScrum MasterflERESEE.
The Scrum Master, because Scrum processes fall under the Scrum Master’ s responsibilities.

D) Scrum Master, FE}E&DoDEEITIRRIATEEDIEEL.
The Scrum Master, because using an integrated DoD helps all parts fit together.

B Z 1 #% EXIN Agile Scrum Foundation (ASF.CH) 23
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1/40
ATIEScrumBIA TAERISRESEF, Scrum MasterfYEZIRERZMHA?

What is the primary responsibility of a Scrum Master in order to keep a Scrum team
working at its peak level of productivity?

A) EEITRATHEScrumiESE R E L

Helping stakeholders understand the Scrum framework and its practices
B) KBEMRINEEE T miF/IS= NG IRINE

Keeping high priority features at the top of the product backlog
C) BrlbdRIFFRRIESUPRIFF DS IZR

Preventing changes to the sprint backlog once the sprint begins

A) IFff, XZScrum MasterfYiRs, (Zik: A, $£2.3.15)
Correct. This is the responsibility of the Scrum Master. (Literature: A, Chapter 2.3.1)

B) &R, XEmARARERSR.
Incorrect. This is the responsibility of the Product Owner.

C) $HiR. MRIEDEMFIRTMZIEL, BIXEEANScrumBBARYERS, TIAZScrum Masterfl~ ABR
=
Incorrect. No changes should be made to the sprint backlog, but this is the responsibility of
the entire Scrum team, not of the Scrum Master alone.

BN #1#{#% EXIN Agile Scrum Foundation (ASF.CH) 24
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2/40
HDeveloperlEE5ER A RIEARNAI—IUESS.

HEXXMES]RER?

During a sprint, a Developer is working on a task.

Who is accountable for this task?

A)

B)

0

D)

A)

B)

9]

D)

iZDeveloper

This Developer
2£{KDevelopers
The Developers
FRRAREA

The Product Owner
Scrum Master

The Scrum Master

iR, XIMESFTsEHBE—AIDeveloperi7ififT, {B2{KDevelopersEXJiItt{EsStazs.
Incorrect. This single Developer might be working on the task, but all Developers stay
accountable.

IFff§. Developera]Se=RIRseR—IN{ESS, {B2{KDevelopers#iXdF=mFAHBERE. (SHA: A,
$23.15)

Correct. A Developer might work on a task alone, but all Developers share accountability for
the development of the product. (Literature: A, Chapter 2.3.1)

iR, FRARATERMESRE, M- mDEmyIRAS,

Incorrect. The Product Owner is not accountable for individual tasks. The Product Owner is
accountable for the product backlog.

Hix. Scrum Master33ScrumEBNEEScrumifiiZfass, MAXIXEMES R,

Incorrect. The Scrum Master is accountable for the Scrum team following the Scrum
processes, not for this single task.

B Z 1 #% EXIN Agile Scrum Foundation (ASF.CH) 25
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FrEScrumEB{HERERHE S RHIEM

AR EIEPREIALE?
All Scrum events are time-boxed events.
What is the advantage of time-boxing?

A) HRT ScrumEFRARIEE,

[t ensures commitment of the Scrum team.
B) (BH TS EXLE.

It facilitates osmotic communication.
C) EARERLTHEIRZ.

It minimizes the waste of time.

A) $BiR. ScrumBIRARIAEARRETRIEIZMRE.

Incorrect. Commitment of the Scrum team is not based on time-boxing.

B) {#iR. BENYBREALEFRIEBAZKAINRERER, AS5RURGERKILER,
Incorrect. Osmotic communication means that people gain useful information by overhearing
and get involved and help each other as needed.

C) IEMfs. #EScrumd, REEEFISKIR (FEE) MLWERTIIIRIN. SR T2
K., (Xuh: A, $1.1.25)

Correct. In Scrum, meetings with fixed objectives and maximum durations (time-boxes) are
preferred over ad-hoc meetings. Time-boxing limits the time spent on meetings. (Literature: A,
Chapter 1.1.2)
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HEBAEAEIEEIScrum, 18 7T — P IUMITEERNAS, HBEFEIEMRRENE— T
N TEERE,

X—AemERERENEAA?

A team is transitioning to Scrum. They already had a role called project coordinator, who
helps creating a smooth working environment for all project members.

What should this role be called after the transition?

A) Developer
Developer

B) MmAzkA
Product Owner

C) MESE
Project manager

D) Scrum Master
Scrum Master

A) 38R, Developers&iF THAGFNEIGIRFEE.
Incorrect. The Developers focus on developing backlog items.
B) iR, FRARANTRFDEITIRRAE.
Incorrect. The Product Owner is accountable for the product backlog.
C) iR, ScrumspRFREIESERE,
Incorrect. There is no project manager role in Scrum.
D) IF#. XANMEMARKIIESScrum MasteriBiil. (3Z#k: A, 52.3.15)
Correct. The work of this project coordinator is like that of the Scrum Master. (Literature:
Chapter 2.3.1)

A,
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RremARABE— N RADSEIIRFZBEEMRATTH. HIEXNFERIDevelopersi\uf
EORAIEABETSRK, MScrum MasternAAFEE3R, —Sepild RUZKBNERERIAN, XPF
BRZRE—X.

THRIRR R R ?

A Product Owner wants a product backlog item to be completed in two days. The
Developers working on the item think it will take five days to complete it. The Scrum Master
thinks it takes three days. A subject matter expert, who has worked on similar items in the
past, thinks it should be at most a one-day effort.

Whose estimate should be used for planning?

A) Developers
The Developers'
B) FRIAEA
The Product Owner's
C) Scrum Master
The Scrum Master's
D) FWRER
The subject matter expert's

A) IEffs, DeveloperstaSSfrBRYEE. MMNRIIFHNITE, &BERELSPINR, BIAREEHEEIMMEIRY
MEER. (X A, 523.35)
Correct. The Developers are responsible for all estimates. They are the people who will be
doing the work and they know best how much effort it takes. No one else can override their
estimates. (Literature: A, Chapter 2.3.3)

B) iR, FmARARENMEFHA, BLEEHEEAS.
Incorrect. The Product Owner determines what should be estimated but has no control over
the estimate itself.

C) iR, Scrum MasterfEiZREBAIERE LEASEN, BLEEFHIREEE.
Incorrect. The Scrum Master has a say in choosing the process of estimating but has no
control over the final estimate.

D) $#&iR. fh&HDevelopersiifT. ScrumEBALISMIA, BINIERER, TiEEHr-miDEmyIRS
ElNE=
Incorrect. The estimation is made by Developers. People outside the Scrum team, for example
subject matter experts, have no control over estimation of product backlog items.
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ERIEARER, EIBASSR T FrERYR RIS D SIS IRER.

IR —I1 75 ?
Halfway through a sprint, a team has finished all sprint backlog items.

What is the best action to take?

A) EGHEAXHRIRSRIRASE, BEFATRIEATSREIISE
Cancel the rest of the sprint and start a new sprint with new items
B) ERAXHRIEY, HETHINZEREIUTE
Extend the length of the sprint and see if done items can be perfectioned
C) I mfFNEIFIRITH—IFE, NINEFRIFDIEISIR
Pick the next item from the top of the product backlog and add it to the sprint backlog
D) 4af@AXIHRIEE, RIRSAERGEE T RATARIER

Shorten the length of the current sprint and shorten the next sprints as well

A) EIR, MRSRIBINEES, SJLABGEAR], EARGS, RRIBRMEINE, AREGEAR],
Incorrect. A sprint can be cancelled in case the sprint goal becomes obsolete. In this case, the
sprint goal still makes sense, and the sprint should not be cancelled.

B) {&iR. —EARIFR, ESSEAIEREER, FEEEEEEER.
Incorrect. Once a sprint begins, its duration is fixed and cannot be shortened or extended.

C) IEff. WIRFEPRIERFERSSAFMESRE, IR miFNERGIRINE— &8N PRIF/I S5
*. (OEk: A, $E233E)
Correct. If all the items are done in the middle of a sprint, the next item from the top of the
product backlog can be added to the sprint backlog. (Literature: A, Chapter 2.3.3)

D) iR, —HARIFA, EFEMBEREERN, IR EEREK, SEARREETRAUPRIER, AannidE
TRAYHRIEAR TIEE.
Incorrect. Once a sprint begins, its duration is fixed and cannot be shortened or extended.
Instead of shortening next sprints, it is better to select more work for the next sprints.
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REMBEAEER—MRE, IIANERRKEER I ARX. BERRIIDAREFESR, S
HIEBEARIMAR.

HARRESX N EME AR RIF /557

A virtual team with people from two diferent time zones is working on a project. The team
members do not have overlapping office hours, which causes them to be less effective than
they hoped for.

How can the effectiveness of this virtual team best be improved?

A) HBRFIBScrumBEIA R RIEIFMEERE

Ensure that all Scrum team members receive all information
B) RO MEAES, WE—EEZHEHES

Hold the daily scrum together even if office hours do not overlap
C) FAEBEEEEHTITE

Use the osmotic communication technique for disputes

A) IEfs, NMEeERFHMY. HEMEEEENTE, SEUEAMMEREIRAHBREMMERE N ALRER
BETERER, ATHENHS. (OB A, $3.35)

Correct. Whether by means of e-mail, shared documents, or a communication tool,
collaboration in a virtual team is most helped by making sure everyone has access to all
information and is kept up to date. (Literature: A, Chapter 3.3)

B) $HiR, XESH—URREAIFNANEBSINERTS. XAFERESX M EMNENSENSRIET G E,
Incorrect. This would cause some members to join the daily scrum outside office hours. This is
not the best way to improve the effectiveniss of this virtual team.

0) iR, BEIBTEERTEIDAEPA.

Incorrect. Osmotic communication is primarily used for collocated teams.
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HHARHRIEA T TR R HE?

When does product backlog refinement take place?

A)

B)

9]

D)

A)

B)

9]

D)

KRR F e

Only at the start of a sprint
REHRIEREN £

Only during the sprint retrospective
REMRIFHERN E

Only during the sprint review
EANTRIHAE]

Throughout the sprint

iR, FPmfFNEIYIRRENMEPRIFTRr T, MERZFEA AR,

Incorrect. Product backlog refinement does not only happen at the start of the sprint, but it
happens throughout the entire sprint.

iR, FREDEIIRBEAEPRIEMSN LT, mERFENDRIE,

Incorrect. Product backlog refinement does not only happen during the sprint retrospective,
but it happens throughout the entire sprint.

iR, FRSDEIIRBEA T PRIFERIN E#HT, MERFENHRIE,

Incorrect. Product backlog refinement does not only happen during the sprint review, but it
happens throughout the entire sprint.

IEH. FERSNEIFIRMER —MSERE), REFENTRIE. (OCEL: A, 5523.35)
Correct. Product backlog refinement is an ongoing activity that happens throughout the
sprint. (Literature: A, Chapter 2.3.3)
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HScrumBIRAREI T ERMR. R EREFIREHR (WiP) ERARIRS.

RS RrZ A A2

A Scrum team uses a Kanban board. The work-in-progress limit (WiP-limit) of a column on
the Kanban board is reached.

What should be done when this happens?

A) BItEnEET—5IAIDevelopers, LABERU=HE
Assign work to Developers in the next column to free up capacity
B) #AWIiPBRHEIFLREETE
Enlarge the WiP-limit and keep working
C) #EBfizF|DevelopersiHbaHRzN
Help the Developers in the column with the bottleneck
D) &2 TEREIT—5ILARR8e
Wait until work is pulled to the next column to free capacity

A) R, XMMGERRAITRY, BRRARFRETIE, TRIFEXTIE. DevelopersiFia#sEnE
Developers;E&HRIA,
Incorrect. This is not allowed. Kanban only allows to pull work, not to push. The Developers
should start helping the other Developers to remove the bottleneck.

B) iR, XFMUERARIFN. WIPIREIRNEESAXRIEEY, XEARZWIPRIRIIBH. RIRE
AT HRBIVEEIFR T A BN,
Incorrect. This is not allowed. The WiP-limit should not change incidentally or any time it is
reached. That is explicitly not what the WiP-limit is for. Instead, the limit is there to ensure that
bottlenecks are solved instead of ignored.

C) IEfa. XEIWIPIREIRS, FAFRTILULME, CREERFMRM. X—RIERAEER, FXHA
EIWiPpRHIAIDevelopers, HftiDeveloperss/RigfitEsan. (3ZHk: A, 56.3E)
Correct. When the WiP-limit is reached, this is not a sign to relax, but rather a sign that there
is a bottleneck. This bottleneck should be addressed. The Developers must help the other
Developers that are the reason why the WiP-limit is reached. (Literature: A, Chapter 6.3)

D) f#HiR. ATLUZFEITIEREIT—5I, BACTHRNIIERTEEEN. BR, FAOZXEFE, MEOZHRRIE
FMiEIRR,
Incorrect. It would be possible to wait until work is pulled to the next column, since people
cannot push the completed work. However, this is not what should happen. The bottleneck
should be addressed.
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t42rDevelopersLAf Developers ZBUEIA S B RIFIEB AT IE?

What is the most efficient and effective method of transferring information to and between
the Developers?

A) EBTHRA
E-mail

B) EXIME
Face-to-face

C) AR
Social media

D) Hi&

Telephone

A) BiR. BAYBEFEMENARNATREEMTRANSENGE, EXHFERRESHHIERELTT
;£0
Incorrect. Even though applying rules to email might help to maximize osmotic
communication, it is not the most efficient and effective method to transfer information.

B) IEffs. [FDevelopersLAfDevelopersZBfEIAEERIRERNAVTZZEXIELE. (SE: A, 5
744%)
Correct. The most efficient and effective method of transferring information to and between
the Developers is via face-to-face conversations. (Literature: A, Chapter 7.4.4)

0) iR, HREAEHAERDevelopersLAK DevelopersZ BHEIAEERIFFIE.
Incorrect. Social media is not a good way of transferring information to and between the
Developers.

D) iR, FIBEAREABRNRESZ, BAEEANEENTE,
Incorrect. Calling is not the best way of transferring information. It also does not maximize
osmotic communication.
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RScrumBIRAFH RSP RIGFIIFISIRERE T — 1w D EIFIERER.

Developerst+ AR ESER T P RSN ETFIZRRE?
A Scrum team selects a product backlog item for the sprint backlog.
When are the Developers finished with a product backlog item?

A) DeveloperstE/fRIZERAIH T BEMHAI—1T]

When the developers have done everything they can before the end of the sprint
B) zZBEIDHT. ikit. WE. WidFHeR

When the item is analyzed, designed, programmed, tested, and documented
C) HEFTAIENX (DoD) RYZEK

When the requirements for the definition of done (DoD) have been met

A) $&iR. DevelopersfEDoDHRZESTE MG TIE, FHLARRERGEREFREIIE. tiIMrIER
F— 1N EZE#HEDoDEIA], FEEMEZ.

Incorrect. The Developers define beforehand what must be done in the DoD and work at a
sustainable pace. They do as much as needed for having an item satisfying the DoD and not
more.

B) iHiR. DevelopersthREISBSITXK. DoDRE—NhRIFNEIFIES B AT,
Incorrect. The steps that the Developers must take are not relevant. The DoD determines
when a sprint backlog item is finished.

C) IEfa. Developersfr/fRIHAIEFTHAYENZ B LIEEIISERL, A REMMIEER—HERD. —NRRIE
EEE2100%HFENTAMIEE. (Xt A, 523.25)

Correct. Each item Developers work on during the sprint must be absolutely done before it
can be considered part of the increment. A sprint creates releasable increments containing
100% done items. (Literature: A, Chapter 2.3.2)
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B —In AR e EHhSERIEScrumIn B _EAYER?

What best describes the role the daily scrum plays in the monitoring of a Scrum project?

A) BHit=1EDevelopers s i 10911 B i EFIE),

The daily scrum gives the Developers insight into their progress and their issues.
B) BHuta#EIScrum MasterEFARE.,

The daily scrum helps the Scrum Master to update the burn-down chart.
O BHUASHTLILRHASEAIFFEDevelopersfyIHIFHE.

The daily scrum lets the Product Owner review the progress of the Developers.

A) IFffs. S8RUESNBENEGETRIBIFIHERER, WEMMRES, Ot A, $23.28)
Correct. The purpose of the daily scrum is inspecting the progress toward the sprint goal and
identifying and solving obstacles. (Literature: A, Chapter 2.3.2)

B) &R, XAZHScrum Masterseplk, thARERMSRIBR.

Incorrect. This is not done by the Scrum Master and not the goal of the daily scrum.

C) R, FRRASATLURELGR, EE8HLSFEATILFRARAT ##DevelopershIGRHIE ¥
EO
Incorrect. The Product Owner may listen, but the daily scrum is not for updating the Product
Owner on the progress of the Developers.

13740
BEIEAT, FATENZEAR?

When working in an Agile way, what should the pace of development be?

A) 3%
Constant

B) HuE
Fast

C) 1B
Increasing

A) IFH., SUBIEIRETFENFA. B, DevelopersilfFPRiZEEBRIFEARENHREEE.,
(Xik: A, 57.44%)
Correct. Agile processes promote sustainable development. The sponsors, Developers, and
users should be able to maintain a constant pace indefinitely. (Literature: A, Chapter 7.4.4)
B) iR, REDEAIRESSHEIAHIERAIE, MMREER.
Incorrect. A fast pace may lead to constant overwork and a quick burn-out of the team.
C) HiR. BARENIFFRTRERIBE, B —Ek—EEE, FREENRFASE. T
Incorrect. Although initially the pace may be increasing, it is not always possible to keep
increasing. The pace should be constant and sustainable.
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I EA98 N HRIF, DevelopersBH5ERk T 7240MEE M. ScrumBIBA#E R FIA— N FEVIRE ,
XAMB B S6MNEE A,

STERX N B FES DNRRI?

In the past 8 sprints, the Developers have completed 72 story points in total. The Scrum
team is asked to start working on a new project which is estimated at 56 story points.

How many Sprints are needed to complete this project?

D)

A)

B)

9]

D)

= = 0000 NN uUtu,

0
0

HR, RIBYENER, SOMRIMRTEIEAREHY,

Incorrect. 5 sprints are not enough time, based on the current velocity.

IEf. BIRABIRRATIERER72/8=9, ScRIRBATFERIARIE56/1ER (56/9=6.2) , BET6. EHIt,
TRESENER, (OUHk: A, $44.28)

Correct. The velocity of the team is 72/8=9. The number of sprints required to complete the
project is 56/velocity (56/9=6.2), which is slightly above 6. Hence 7 is the most reasonable
answer. (Literature: A, Chapter 4.4.2)

HiR, SRIZIMRIAIREL, BRI T—PIIERPRIENGZEE, MRS REURIA,
Incorrect. 8 is the number of past sprints. There is no reason to assume that the next project
should have the same number of sprints, unless the amount of story points is similar.

Hix. 102IRIAEIER, MARZ F—1HERHEIRRIEL.

Incorrect. 10 is approximately the current velocity. It is not the number of sprints needed for
the upcoming project.
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HScrumBANEFENRIEM— M IE ., ESETREANPRIBSRIERSIN £, Scrum Mastergkis:

MG A ZANPRVETAE S, el I E R B AT TIEE, Bl Iz B IE 13T
AIFTR,

EARNIZIENNRRIER?

A Scrum team works on a project in two-week sprints. During the sprint retrospective
meeting of the fifteenth sprint, the Scrum Master says:

"We have seen from the last twelve sprints that we cannot deliver potentially shippable
increments in two weeks. We should increase the duration for sprint sixteen.”

Should the duration be increased?

A) ZR9, ERETIERNRIZRN, SRS EHESUPRIER.
Yes, because past sprint performance is a good reason to change.
B) 2f9, EJ9Scrum MasterfiiseiFEUHRRILEA,
Yes, because the Scrum Master is allowed to change the sprint's duration.
C) &2, BAREDevelopersABNHHARILA,
No, because only Developers have the authority to change the sprint's duration.
D) ~2, BEAFICUITARBERUHRIER,

No, because the Sprint's duration cannot be changed, for any reason.

A) IEffi. Scrum MasterBEFTZRINAET(F, [T —PZzBSUTRIBINGIEER, (ki A, 5
2.3.25)

Correct. The Scrum Master gives a valid argument, based on a good amount of earlier work,
that the sprint's duration should be changed. (Literature: A, Chapter 2.3.2)

B) tHiR. FRIEBNAZIEIN, BAZREAScrum Master\IXE MFER.

Incorrect. The duration should be increased, but not because the Scrum Master thinks it is a
good idea.

C) $HIR. (HUHBAALRESTLARRH SRRV, BHREEANScrumBEIA SRS RN,

Incorrect. Any team member may suggest the change. The entire Scrum team will debate
whether the reason is valid enough.

D) #Eix. MRERGFAN, EESE—NEIRIRKENEEN. WRESTRIBBISIEER, ML,
Incorrect. The sprint duration is ideally not changed but repeating a strategy that is not
working is not sensible. If there are valid reasons to change the sprint duration: go ahead and
change it.
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IR AR E R I AT .

MRERRIEREN 7HA?
For a sprint, progress is monitored in a burn-down bar chart.
What does the bar of a burn-down bar chart represent?

A) R IFE
The amount of completed work

B) ®IARIIFE

The amount of remaining work
C) DevelopersfyazfiERER

The velocity of the Developers

A) BiR. XEREEZETHIRE.
Incorrect. This is what a burn-up chart shows.

B) IFff. MREETRAIFE, B—FKATRMNME, (8 A, 5$3.5.25)
Correct. The burn-down chart shows the amount of work remaining. It is a downward-sloping
chart. (Literature: A, Chapter 3.5.2)

C) HiR. ERAREEHNNREKXS, BEASERETER,
Incorrect. The velocity can be derived from previous burn-down charts, but it does not directly
show velocity.
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NERIRELHRERES "INVEST" HERFDSFIFIRFE. INVESTRY "I" RIRM
T$ BRI RFNEIFIRFEARRIRZAY.

IR BB M E YR ZBERIER?

An often-used best practice is to define product backlog items according to the acronym
‘INVEST" . The ‘I’ of INVEST means independent. Suppose that a product backlog item
is not independent.

What is the consequence of having dependent product backlog items?

A) KR ETEEZS IR G,

The items call for more knowledge to be built.

B) {kititE BRI SIMERET.

The items cannot be ordered based on business value.

C) KRB FEFE L DevelopersZ BeEtTsE.

The items require more Developers to be built.

D) &ittSFEFES— N ScrumBZIRARITF.

The items require work from another Scrum team.

A) iR, FRAFDEIYIRZBREESRKIER, FTEUETRIE.
Incorrect. A product backlog item must always be understood before it is possible to work on
it.

B) IEffs. SIREHIMEME, MAEEBRMHTREARF, FRASAZETIOEREE. O A,
%4.3.1704.3.25)
Correct. If there is any dependency, it is not possible to order the items freely and the Product
Owner will have to check the dependencies constantly. (Literature: A, Chapter 4.3.1 and 4.3.2)

0 iR, KEMA—ESHITIFEEKA, NmFHEEESDevelopers, B5b, XFMERSINVESTHAERAL
B/NES "S" REEAX,
Incorrect. Dependencies do not necessarily lead to larger work volumes and therefore the
need for more Developers. Also, this is more related to the ‘S’ in INVEST, which stands for
small.

D) #iR. — N TRANDSEIFIRFZBRE—ScrumBEARN I, BXHARNEZFEFTEMIIAER.
Incorrect. A product backlog item should refer to work for one Scrum team, but this is not a
reason why the item needs to be independent.
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EEATHER AR AR T RGN EIIRASHIRE?

Is it allowed to override the Product Owner’ s decisions regarding Product Backlog
content?

A) 21y, CEOTJLUER mARANRE, EANCEOEEEMINNRERE.
Yes, the CEO can override the Product Owner's decisions, because the CEO is ultimately
responsible for the entire organization.

B) B8, EFILUERFRARARRE, BAScrumlIZFAH0, EFMZIREMNE.
Yes, the customer can override the Product Owner's decisions, because Scrum is customer-
focused, and the customer should receive value.

) A2, FRARARNREFEHHER, FAXESEScrumEBAE FREEZETE,
No, Product Owner's decisions may not be overruled because this would cause the Scrum
team to adjust their planning too often.

D) 72, FmARANREFEEIER, EAr-RSislyIReRmiAaskARR.
No, Product Owner's decisions may not be overruled because the product backlog is fully
owned by the Product Owner.

A) fHiR. BNMRAVRESEFRORANRE, WBZA8ENN. EEHAEBAIOZAEERR~mA R AR
£, CEOtEAMFIFN,
Incorrect. The entire organization must respect the Product Owner’ s decisions for the project
to be successful. No one, not even the CEO, should allow themselves to try to override those
decisions.

B) iR, FmRARANZSEFHTENLSE, AFRSBERERNERIFmFNIEIIIR, B m
RBEAMREORE, ZERACIFHER.
Incorrect. Product Owners should communicate effectively with the customer and use the
information to keep the product backlog updated with all changes, but the Product Owner
makes the decisions and customers are not allowed to override these.

O R, HIAEBATFERNTRAFANRE, BREEFAFIEWNL. EScrumAr, NS TFEREIT
%,
Incorrect. No one is allowed to override the decisions of the Product Owner, but not for this
reason. In Scrum, responding to change is valued over following a plan.

D) IFff. HUABARFER~RASANRE, BXHAEKRETMALBFEFWRAEA. RS
R, FRASAEEFREFLBEIVIER, FNEASR. Gk A, $23.18)
Correct. No one is allowed to override the decisions of the Product Owner, but this does not
mean that no one can influence the Product Owner. Ultimately, the Product Owner owns the
product backlog and is accountable for it. (Literature: A, Chapter 2.3.1)
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Scrum@I=PNITHEBB E—NScrumE A Z 3RS,

HREFDEIRIRBERHA?
All three Scrum artifacts have a commitment that the Scrum team works toward.
What is the commitment of the sprint backlog?

A) TRHEIENX (DoD) , HFH T miESR
The definition of done (DoD) that clarifies the vision for the product
B) DoD, HABH T HpnRINFZrIS%E
The DoD that clarifies which items should be developed in the sprint
C) MRIEHR, HIFRTZBAETRRETEREIIEK
The sprint goal that clarifies what the requirements are for items to be called complete

D) HRIBR, HBBHTEAERIPELZIRIE R

The sprint goal that clarifies what the team wants to achieve in the sprint

A) EIR, HRIETA RSHPRIGHERYIFRERIEE, FrilEREEr mBRheamaY,
Incorrect. The sprint goal is the commitment related to the sprint backlog. The vision for the
product is clarified in the product goal.

B) iR, MRIBIRA RESHRIEDSEITIRBXAER, REFAARIIZEARZEEDOD, MEEHRIFIE
InFZRhBAHERY.
Incorrect. The sprint goal is the commitment related to the sprint backlog. Items that need to
be developed are not clarified in the DoD, but in the sprint backlog.

C) iR, HRIEFERSHRIFDEFIFRBEXRAVERE. DoDiFM Y — N EB @A &5k,
Incorrect. The sprint goal is the commitment related to the sprint backlog. The DoD clarifies
when an item is complete.

D) IFfa. HRIBtRESHRIGIIEIIRERAVEE. SIEHE T ScrumZREPRIBARF & PRSI TR
FIRPAI RS DEIFIRFBAEARIBR. (O A, $23.35)
Correct. The sprint goal is the commitment related to the sprint backlog. It clarifies what the
Scrum team wants to achieve in the sprint by developing the product backlog items in the
sprint backlog. (Literature: A, Chapter 2.3.3)
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EScrumBIBA R, EXSHHRE P AT mPIRERAMERR?

In a Scrum team, who is accountable for ensuring the customer gets the most value from
the product?

A)

B)

0

A)

B)

9]

Developers

The Developers
FmiasEA

The Product Owner
Scrum Master

The Scrum Master

#iR, DevelopersSII TS MRS HIEENTHIEE, EIIFAREIN~RIMERKIL
&=,

Incorrect. The Developers are committed to creating any aspect of a usable increment in each
sprint, but they are not accountable for maximizing the value of the product.

IEf, PR AR ScrumBEIRARI TR ER-miMER AR, (3@ B, Product
Owner)

Correct. The Product Owner is accountable for maximizing the value of the product resulting
from work of the Scrum team. (Literature: B, Product Owner)

HiR. Scrum MasterXdZ23zScrumigmEXAIScrumiass. X RBEEHER N FIRERINE.
Incorrect. The Scrum Master is accountable for establishing Scrum as defined in the Scrum
Guide. This influences the value for the customer only indirectly.
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AR mER?

What is a product goal?

A)

B)

9]

D)

A)

B)

9]

D)

FEmATR ST RIS IR

A list of what is needed for the product
KEIEEEATHIREERER

A quality measure to check if an increment is complete
TN HRIZESTRRIB R

A target to accomplish in the next sprint
FmEiRSHER

A vision for the product or service

iR, FPmfFNEIYIRS BRSNS,

Incorrect. The product backlog is a list of what is needed for the product.

iR, TTAAIEN (DoD) Rt TieEIRERRAINREREEIET.

Incorrect. The definition of done (DoD) provides quality measures to check whether an
increment is complete.

HiR. HRIBinA 2 T —NHRIBE R,

Incorrect. The sprint goal is the objective for the upcoming sprint.

IEff, P mBnEN T miFDEIFIRAEE, BT ARBNANNER. B milEREE~m
RESRATEMmE, (OL8k: A, 5$8233%/MB, &i&E: ~mBiR)

Correct. The product goal is the commitment for the product backlog and makes clear what
should be achieved by developing the items. It is the vision for the product or derived from
the vision for the product. (Literature: A, Chapter 2.3.3 and B, Commitment: Product Goal)
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— NS AKIScrumBIRA, 3REHRIERRY PRI RIS B SR RIER?

How long should it take a Scrum team of 5 members to finalize the sprint planning for a 3-
week sprint?

A)

B)

0

A)

B)

0

BEZRKMEK

As long as it takes
6/N\E

6 hours

8/\AY

8 hours

iR, — PR REBRTRIT SR ARG, &IKAEIES/E.

Incorrect. A sprint planning meeting is time-boxed to a maximum of 8 hours for a one-month

sprint.

IEf, PRI SWNAISRKESER8/NT, MRARIEET— R, RIS EER4ERE.
(X#k: A, 582.3.25)

Correct. The sprint planning's maximum duration is 8 hours. If the sprint is shorter than one

month, the sprint planning meeting also is shorter. (Literature: A, Chapter 2.3.2)

2, PRI SRS KNS/, MEEREBET—AN B, RSN R EEN RS,

ek, JRRIERI3E, ATLURRITT RIS AAE T8/,

Incorrect. The sprint planning's maximum duration is 8 hours. If the sprint is shorter than one

month, the sprint planning meeting also is shorter. In this case, the sprints are 3 weeks, so the

sprint planning meetings should be shorter than 8 hours.
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HAREESESS PR TNMEMAIHER?

IBICIEHIE2TEE,
Which two statements are statements of value as described in the Agile Manifesto?

Please remember to choose 2 answers.

A) FRAEE T TR

Comprehensive documentation over working software
B) BEKHASTEFEF

Contract negotiation over customer collaboration
C) MAMEmHESTRENTIE

Individuals and interactions over processes and tools
D) MM ETEEITL

Responding to change over following a plan

A) iR, XTFNMENERFER ZEREEETEREEH". "INEHETEEITL". “"MMIEmsETR

EINTE". "TENREETERINE", <BR>Incorrect. The correct statements of value are
“customer collaboration over contract negotiation”, “responding to change over following a
plan”, “individuals and interactions over processes and tools” and “working software over
comprehensive documentation”.

B) iR, XTMENERFAR' ZEFESESTERRH). "MNBUESTERITL". “MAEIETR
FEHTR". "TENHEETERIINRY", <BR>Incorrect. The correct statements of value are

“customer collaboration over contract negotiation”, “responding to change over following a
plan”, “individuals and interactions over processes and tools” and “working software over
comprehensive documentation”.

C) IEf. XTMENERRER ZEREFSTERIA". "B TEREITY . "“MMIEETR
BATER" "TIRRYSESTIFERISE". (38K A, 557.4%) <BR>Correct. The correct
statements of value are “customer collaboration over contract negotiation”, “responding to
change over following a plan”, “individuals and interactions over processes and tools” and

“working software over comprehensive documentation”. (Literature: A, Chapter 7.4)

D) IEffs, XRTMERERMFAR ZEFEFETEERHA). "MNEUESTERIL". MBS TR
BMTR". "TIFRRESTIFRISE". (X#t: A, 57.45) <BR>Correct. The correct
statements of value are “customer collaboration over contract negotiation”, “responding to
change over following a plan”, “individuals and interactions over processes and tools” and

“working software over comprehensive documentation”. (Literature: A, Chapter 7.4)
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HScrumBI\BEE BRI E,

AT AT E R B R EIRT?

A Scrum team uses an information radiator to visualize the progress.
Why is visualizing the progress helpful?

A) BEpFScrum Masterp e r~mRiFNDEIYIFRSEE
It helps the Scrum Master assign product backlog items.

B) BEIFScrumHEBAEFHESE.
It helps the Scrum team to work together better.
C) BEEIBRScrumBEIARIITIFZE,

It shows co-workers how busy the Scrum team is.

A) R, ESHIERScrum Masterpe, M2/ DevelopersE SHEUESS., Scrum Masten@id sz i3
ScrumBBABL R, RftDevelopers T{E_ERIEEEN.
Incorrect. Tasks are not assigned by the Scrum Master, but Developers pull their own tasks.
Scrum Masters just help the Developers do their work by supporting the members of the
Scrum team.

B) IEffs, [ERBARSTHUNEE. AIHWEEHYN, FTRTERE, NMSETRIGMIME. 53
Hb, AR T ESES. (K@l A, 586.1F)
Correct. An information radiator improves visualization. Visualization is helpful because it
creates transparency and therefore, improved feedback and collaboration. It also creates more
control. (Literature: A, Chapter 6.1)

0 iEiR. REXGIETREESL, (BRRScrumB\ICREEH AT ILIIES.
Incorrect. Even though this may be true, showing how busy the Scrum team is, is not the point
of visualizing.
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HEFEXRHE—H R T ScrumBAEF R P MR AR S.

ERIFEERESXOIRE?

A customer requests a report about the techniques a Scrum team uses for their
development.

Who can best prepare this report?

A) Developers

The Developers
B) F@mRAEA

The Product Owner
C) Scrum Master

The Scrum Master

A) iR, BIATIREEE G Developers’&if), (BRANERMIREIRS.
Incorrect. Even though the Developers may need to be consulted, they should not be tasked
with writing the report.

B) iR, FmRARAESXINEANS, MARLETX. BEARAS L TIXEX.
Incorrect. The Product Owner focuses more on the content than on the context. An
explanation about the used techniques is related to the context.

C) IEfff. Scrum Master&8ZXKETHNELETX, MARASE. AL, &iFiEScrum MasterfgEixXpike.
(3Zmk: A, 52.3.18)
Correct. The Scrum Master focuses more on the context than on the content. Therefore, it is
best to ask the Scrum Master to write this report. (Literature: A, Chapter 2.3.1)
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HARScrumBIBARTIERERAIEN?

What is the definition of the velocity of a Scrum team?

A)

B)

9]

D)

A)

B)

9]

D)

XPHRIAYTE AR EIA R AT

A shared understanding of how fast a sprint must be done
DeveloperstE—/XHRIFFRTLASSRR AU EE 2L

The number of story points Developers can finish in one sprint
BNHRIREESR (WIP) PR

The optimum work-in-progress limit (WiP-limit) for each sprint
BreaBYRRIFFIEIGIRFZ B RIS

The sum of all completed sprint backlog items

HiR, EEEZEDeveloperstE—NHRIFRILATSRAIEEE g, BB/ NS EEAB A H,

Incorrect. The velocity is the number of story points, ideal hours or ideal days Developers can
do in a sprint.

IEff, RRZRIEE—EEEMRMATTRRIRM T, I8k A, $4.448)

Correct. The velocity is the number of units of work completed in a certain interval. (Literature:
A, Chapter 4.4.4)

tHix. WIPIREIERTERIR, NERTIHR,

Incorrect. The WiP-limit is for the Kanban board, not for a sprint.

iR, XAUREATERMGLE, BRAREENEN.

Incorrect. This might be used to estimate velocity, but this is not the way velocity is defined.
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(ERFIIAMER, BRESENEoEHRSER?

When using affinity estimation, how are story points assigned to user stories?

A)

B)

9]

A)

B)

0

RIERTRAE TEEN B AFASERTHR, ARIANSERERINAIKE,

All user stories are sorted based on their relative effort and then grouped into buckets of
estimated story points.

&/ DeveloperZBfERFHE, BH2{ADevelopersiApiiEmE—H=,

Each Developer individually estimates the user story before all Developers agree on the story
points.

DevelopersBEIZN&EE, SHAFHEHTILR.

The Developers use multiple reference user stories and compare them to the user story.

IEffs, XIERAFMNMEENHERDESRN. OUk: A, $4478)
Correct. This is how story points are assigned using affinity estimation. (Literature: A, Chapter
4.4.7)

Incorrect. This is how story points are assigned to user stories using planning poker.

Hix. XiHEDevelopers =X A EEERAFHEINE R

Incorrect. This is a description of the Developers using triangulation to estimate story points
for all user stories.
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—MARERE, B—AMRMTE. —ABRERAE,

VAL /BT URRhsEiEe?

One person is working on the code and another person is observing and commenting.
Occasionally, they switch roles.

Which practice is this?

A)

B)

9]

D)

A)

B)

9]

D)

RS

Code review
Continuous integration
LRI

Pair programming
WHIKENFF R

Test-driven development

HiR, AISTHRIEEAEERSHAB, TURRBREA, BILIZEMEA.

Incorrect. Code review means that someone looks at the created code. This could be the one

who created the code or someone else.

HiR. AR RS IR AR,

Incorrect. Continuous integration is continuously integrating the new code with the old one.

IEff, EXIRIERIEM T DevelopersEEI TIRRE, —PARERE, B— P REWEMTE.
(X#Ek: A, $E4.1.15)

Correct. Pair programming is the practice of two developers working together. One is coding,

the other is observing and giving comments. (Literature: A, Chapter 4.1.1)

Hix. WRIRNFFRRERSEFRIEEFNGSR, 1tDeveloperims HiE@ILMIHAIKE.

Incorrect. Test-driven development is having test scenarios prepared before the program is

written, so that the Developer writes something that passes that test.
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HScrumEBARI—& Developeri\ i, FRATESNEFARIEEE —LEEMNERNNFNRIR.

HARMERRIZHIRIESS?

A Developer from a Scrum team thinks that a stakeholder may have some valuable insights
and feedback about the developed increment.

What is the best event to ask for this feedback?

A) BRuER
Daily scrum
B) iRtk
Sprint planning
C) HRIEIER
Sprint retrospective
D) HRliFE

Sprint review

A) EIR, EERMERHAENERRIGFIFAE 22,
Incorrect. It is not wise to ask for feedback during the daily scrum.
B) iHiR. HRATHISNNIZRABHHRN, FEEIEKRIR.
Incorrect. The sprint planning meeting should be just that: a planning meeting.
C) iR, MRIERMEIN _EREScrumEAR\RIFEF 6™ RS crumiiis.
Incorrect. In the sprint retrospective, the Scrum processes used to create the product should
be reviewed by the Scrum team.

D) IEffs, HENFEEMIFILRINBIFNSIN, ScrumEFBA. B, JR8rERERPREMRIRE—
2, EMEMRIRR, RRMITARRER. ZS2WEBATHRERIREN, RIRRHERER, (Ek:
A, 523.25)
Correct. This is a meeting at the end of the sprint where the Scrum team, the customer and
possibly end user representatives and advisors gather to go through everything the team has
created and give and receive feedback. This meeting is intended to collect feedback and raise
change requests as soon as possible. (Literature: A, Chapter 2.3.2)
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“INVEST" #hAg "S" RAIEN,

PRSI RIS R PR S B RI%/N?

The S in INVEST stands for small.

Which items on the product backlog should be small?

A)

B)

0

D)

A)

B)

9]

D)

PRSI IRPRIESE

All items in the product backlog

S EIGRIEEHIFRE

The items on the bottom of the product backlog

PR SRISIRINERISRE

The items on the top of the product backlog
REFRADSEIYIRNEZE, REMRIGHEIFIRNSEE

No items on the product backlog, only items on the sprint backlog

HiR. RERSNTERRENDEIYIRFBGINFMTE, EACIIBRITIARL.

Incorrect. Only the highest priority product backlog items must be detailed since they must be
realized first.

HiR, FRSDEIVIRFENMVESSET, BMATEFMRA, BiIUesEENAE, EEr8E
WS B RO SIS IR P RIFR.

Incorrect. The lower product backlog items are on the product backlog, the less they need to
be detailed. They may change over time or may even be skipped or deleted from the product
backlog.

IFff. REFRFDSEIFIRIENFESRTE), BAXEREENRS, TLUSEHAINTR. (X
MA: A, 552.335)

Correct. Only the items at the top of the product backlog need to be small, because these are
the items that are defined enough to be incorporated in a sprint. (Literature: A, Chapter 2.3.3)
iR, MPRSDEIFIRFESIUN, T REDEIY RIS B 2L,

Incorrect. The sprint backlog items must be small, but the items at the top of the product
backlog as well.
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ERAFROZEM. TRAMRHERS TURFSSELRIEIRN ?

From which type of team do the best architectures, requirements and designs emerge?

A)

B)

9]

D)

A)

B)

9]

D)

Eihia NFi|IN

A collocated team
EETERFIBA

A self-managing team
YIEBZ=ERA

A well-trained team
ZLIFEHIBA

An experienced team

HiR. EDABEEILURIESE, (BA—EREHREFRIRRK. Rafigit.

Incorrect. A collocated team ensures communication, but does not necessarily lead to better
requirements, architectures, and design.

IFff. BURESEY, &FRZEN. FRMRIHENEETEEEE. (OF: A, $5744F)
Correct. The Agile Manifesto states that the best architectures, requirements, and designs
emerge from self-managing teams. (Literature: A, Chapter 7.4.4)

Hix. IGBRENTERTERTFUR, BEREAINEEE—E,

Incorrect. A well-trained team may work well, but an Agile team will outperform well-trained
people.

Hix. KRFENVTRENSMTRIGRRATEEEEIN, EEGEENTESMTERBIIEERERA.
Incorrect. An experienced Agile team would be better than an inexperienced Agile team, but
an Agile team likely outperforms a regular experienced team.
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FEmASR RS S MRS RS B IHR R,

B—IARREEE SIRE?
The Product Owner is considering criteria for ordering the items in the product backlog.
Which is not one of the criteria that needs to be considered?

A) it
Dependency
B) DevelopersgJa] FatE
Developers’ availability
C) Xbg
Risk
D) #iM&

Value

A) iR, MO SRIGIRFZEHIFN, KR ERERER. — I\ RETEESNERER, B
MRER—ENMERENTREY, NIRRT ESMTR.

Incorrect. Dependencies are an important consideration when ordering product backlog
items. An item might in itself have a low value, but if it is a prerequisite for a high-value item,
it might be given a higher priority.

B) IFff. Developerstya] MR RFNEIFIRFZBHFIIREZ—, EERHFRITRISN EA—
MERER, ME. WE, MEMMFBEIRRERXICEXBHEFIRE. OOk A, 323.38)
Correct. Availability of Developers is not one of the criteria for ordering product backlog items
but is a consideration during the sprint planning. Value, size, dependencies on other items
and risks are the basis for ordering items. (Literature: A, Chapter 2.3.3)

O #HiR. NEEFRENEIRFEAFFNEZERR. — I EXRFZETERENE, BURCEZE
2N (NERZERE) [ WA RITREARTMEEREEE.

Incorrect. Risk is an important factor for ordering product backlog items. A high-risk item may
be valuable, but if it is prone to risks (such as information security breaches) it may be given a
lower priority than an item with lower risks.

D) #&iR. - RFNEIFIRFZEHFN, FENNEREENEZ—,

Incorrect. The value of items is one of the main criteria when ordering product backlog items.
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MMABRBEFECTRIERNE AR EFT?

Why does the daily scrum need to be held at the same time and place each day of the
sprint?

A) R RIERERNRBITIERINE

Because booking a room should be done in advance for the duration of the sprint
B) EANEEEEEERAENAREREERER

Because management should get status updates at a given time every day
C) EANEMtERRSAE T LG ARERFEEZME

Because the use of a consistent time and place minimizes complexity

A) iR, SNERGAFEME,
Incorrect. Rooms do not need to be booked per se.

B) iR, AMEEEEGENX, ARMREXRECRtRMEEEFEHILSAEH.
Incorrect. Even if management demands this, it is not the reason to hold the daily scrum at the
same place and time each day of the sprint.

C) 1Ff. BRWMSNAETRISRIE—EFEREFF, LPRMESZM. (3H: B, Daily Scrum)
Correct. The daily scrum should be held at the same time and place each day of the sprint to
reduce complexity. (Literature: B, Daily Scrum)
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HEEEMNRERS, DeveloperZBEIEFIRERAR =PI NPRIENEREE T £75.

B=AMRIEIRETHA?

While reviewing a burn-down bar chart, a Developer observed that the bottom of the bar
had moved above the horizontal axis between the third and fourth sprint.

What happened in the third sprint?

A)

B)

9]

D)

A)

B)

9]

D)

PRSI BRI RPHIE T — & THE.

Some work was added to the product backlog.
PRSI EIGIRPMRR T LT E.

Some work was removed from the product backlog.
Developersse IR E D FHEE.

The Developers finished less than the allocated user stories.

Developersse B SESZ THEE.

The Developers finished more than the allocated user stories.

R, MREFRINLIESSHEFBEEMTS, MASEM LS. A5 IIFLit R EmET, FEE
BEZTIEEM: FEIE.

Incorrect. Work added to the chart would make the bar move below the horizontal axis, not
above it. When the horizontal axis is reached by the work-done line, there is still more work to
be done: the work that was added.

. MREPHGTESSEFREER S, STl LIEEM MR, RBREEMITIEE
5, BB LEEASER0, (UL A, $3.5.28)

Correct. Work removed from the chart makes the bar move above the horizontal axis. When
the bottom of the bar is reached by the work-done line, no more work needs to be done, even
though the graph will not say 0 yet. (Literature: A, Chapter 3.5.2)

R, FFESETNERMEESHRNIEE, MARNKTRIPERHMIIIEE.

Incorrect. The bottom of the bar shows how much work still must be done in the release and
not how much was done in this sprint.

R, FFESETNNERMEESHRNIEE, MARANKTRIPEHMIIIEE.

Incorrect. The bottom of the bar shows how much work still must be done in the release and
not how much was done in this sprint.
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PR ERIEELREEN, EEScrumIfEA=?

Which contract type is adaptive and fits well with the Scrum way of working?

A)

B)

9]

A)

B)

9]

BERE "EEME”

The contract type 'fixed price’
BE%ER "T-8" (time and material)
The contract type 'time and material'
“EHAR

Neither contract type

HiR, XFRREALAERCScrum, BLIESSIETIE. B/ BENSERESENM AR,
Incorrect. This type can be done with Scrum, but it is more difficult to work Agile with this
contract. Also, the fixed-price contract is usually not very adaptive.

I, XZEEGRRIAREE, STMRENMER. FRENMSEENER T, HUMEEN, (X
Bk A, 585.68)

Correct. This is the preferred type of contract, which is compatible with the adaptive nature of
the project. It is hard to be adaptive when the project price is fixed. (Literature: A, Chapter 5.6)
Hix. BE%EE "T-R" EfcScrumI{ELR,

Incorrect. The contract type 'time and material fits a Scrum way of working well.
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RScrumBINEERE X —taEZR, RIS HEEET B PRSIz E.

ZEBA AT B RTA?

A Scrum team wants to clearly define a checklist of items that must be completed before an
increment can be called completed.

What are they likely to use for this?

A) BRE
Burn-down chart
B) FeRAIEN (DoD)
Definition of done (DoD)
C) FRFDEITIER
Product backlog
D) HRISFIEIFIR
Sprint backlog

A) EIR, MREERRTFESHERXRE, FREHPRIEIEOMGHRAIZBEIIR.
Incorrect. A burn-down chart shows the amount of remaining work against time. It does not
give a checklist of items that must be completed during a sprint.

B) IFffa. STAEIENX (DoD) ZRRIFIEME. BHEMCRIXTIRSIGEERLRETTHAIFKERIE
M. (@R A, 52338)
Correct. The DoD is a well-understood and clearly documented definition of items that must
be established to mark an increment done. (Literature: A, Chapter 2.3.3)

C) $HR. FREFDEIVIRE—MHIFIIR, JIHTREF R IR ZRERE.
Incorrect. The product backlog is an ordered list of everything that might be needed in the
final product.

D) #&iR. MRISGHEIYIRES T RFNEIFIRPIEENEE PRIEIRZTHIZE.
Incorrect. The sprint backlog contains the selected items from the product backlog to be
delivered in a sprint.
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Bp—IE RUER B AR RS TE R R T ER D ?

What is a potentially releasable part of a product that occurs during a sprint?

A)

B)

9]

D)

A)

B)

9]

D)

e

A feature

Ihge

A functionality
HRIEFDEINFIR
A sprint backlog
e

An increment

B, R RAAMERD, BMEEN—SoRIEBETE.

Incorrect. A feature is a potential element that is part of the releasable part of a product,
which is the increment.

HiR, DIEERAI A mAIRESD, ENEEN—ERo B HETE.

Incorrect. A functionality is a potential element that could be part of the releasable part of a
product, which is the increment.

IR, RGBSR EMBNEREITR, SERYRIPiE, B2, HRIGHEIGIRARTE
IR AR .

Incorrect. The sprint backlog is a short-term plan for the project that will be implemented in a
single sprint. However, the sprint backlog is not a potentially releasable part.

IEff, IBERPREAEFER R AMED. (O A, $523.35)

Correct. An increment is a releasable part of a product that occurs during a sprint. (Literature:
A, Chapter 2.3.3)
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HScrumBBAIEEEERFHE. Scrum MasterfZB IR RIFNTIE.

THFN e B TARRY?

A Scrum team is estimating user stories. The Scrum Master suggests the planning poker
technique.

How does planning poker work?

A)

B)

9]

A)

B)

9]

BRFHSSESSE5MEHTIR, REHTHEE

Compare the story to reference stories and then estimate it

BFEMEE, RETCEMARGER

Estimate on your own, then discuss everyone else's estimates

R RAVEX T EEXATE B EH TH

Sort all stories based on their relative effort required

iR, XE=AiD.
Incorrect. This is triangulation.

IEff, IXRitkldhse. (3XER: A, 54.4.55)
Correct. This is planning poker. (Literature: A, Chapter 4.4.5)

HiR, XEFMAOMEE,
Incorrect. This is affinity estimation.
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BEHEEZEScrumE\ 2EBEScrumLEFNEN,

ERHUTRERNREAR?

Senior management wants to regularly verify whether the Scrum team is following Scrum
practices and principles.

Who is in the best position to conduct such an audit?

A)

B)

9]

D)

A)

B)

9]

D)

—=x-—+

=B

Senior management
Developers

The Developers
FRAREA

The Product Owner
Scrum Master

The Scrum Master

HIR, BEARZENREALK, Scrum MasterBE&HX{4E,

Incorrect. Senior management is not in the best position to conduct such an audit. A Scrum
Master is in a better position to do this.

iR, XA EDevelopersfIEss, ffiIARRERAERScrumELRIKIERA(ER.

Incorrect. This is not a task of the Developers. They do not ensure the Scrum framework is
used properly.

iR, FRARANTRADEIFIRAE, FHAFRScrumiEZRH ERHfER.

Incorrect. A Product Owner is accountable for the product backlog, not for ensuring the
Scrum framework is used properly.

IE#3. Scrum Master@ScrumBBAAIE SR, ASHRScrumiFiZSEIERNIT. Eit, HScrum
MastertfifTiz&. (#Ek: A, 523.18)

Correct. The Scrum Master is the coach of the Scrum team and ensures that Scrum processes
are followed properly. This allows the Scrum Master to conduct this audit. (Literature: A,
Chapter 2.3.1)
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SMEINEE— N, XT5MEIEX (DoD) FEDIK.

-Scrum MasteriA\ 5, REEE—1"DoD, FrEBAEE 1 FX—DoD,
-FFRABAINA, SMNENENIZENY ECHDoD, HRIESBRIDoDIEAMK TRl BT,

HEEXIAY?

Multiple teams are working on the same product. There is a disagreement about the
definition of done (DoD).

- The Scrum Master states that there should only be a single DoD that all teams work
towards.

- The Product Owner states that each team should define their own DoD and work towards
their sprint goals based on that DoD.

Who is right?

A) FFRHEA, EABADoDBEMTFEEMUMbIARLTFIBIR.
The Product Owner, because a team DoD helps reach sprint goals more efficiently.
B) mmE=A, EADoDETRmAEAREREEE.
The Product Owner, because the DoD falls under the Product Owner’ s responsibilities.
C) Scrum Master, EAScrumiiiEETFScrum MasterflERESEE.
The Scrum Master, because Scrum processes fall under the Scrum Master’ s responsibilities.
D) Scrum Master, FE}E&DoDEEITIRRIFTEEDIEEL.
The Scrum Master, because using an integrated DoD helps all parts fit together.

A) EIR, FTEEAENEITEEDOD,
Incorrect. All teams should work towards an integrated DoD.

B) $&iX. DoDAEFmARARIERE. B, FrERBAERNEITESDOD,
Incorrect. The DoD is not a responsibility of the Product Owner. Also, all teams should work
towards an integrated DoD.

C) #&iR, Scrum Master@%3hY, BEMFIFUNLL. DoDARTIEMER—305 .
Incorrect. The Scrum Master is correct, but this is not the reason why. The DoD is not part of
the working process.

D) IEffs, EESDoDALUMRIENEMERDRESEES, FLTHRNTARE. (ZEk: A, 52.4.35)
Correct. Using an integrated DoD ensures that the pieces of the project will fit together and
are in the same state of done. (Literature: A, Chapter 2.4.3)

B Z 1 #% EXIN Agile Scrum Foundation (ASF.CH) 62

Agile Scrum




A

MTRBAREFBNIERER, HEEERA.

[ =f 3 [ =f 3
1 A 21 D
2 B 22 B
3 C 23 ca&ab
4 D 24 B
5 A 25 C
6 C 26 B
7 A 27 A
8 D 28 C
9 C 29 D
10 B 30 C
11 C 31 B
12 A 32 B
13 A 33 C
14 B 34 B
15 A 35 B
16 B 36 B
17 B 37 D
18 D 38 B
19 D 39 D
20 B 40 D
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